
1) 142 =

4) 94 =

7) 203 =

10) 402 =

13) 29 =

16) 193 =

19) 312 =

2) 36 =

5) 242 =

8) 54 =

11) 133 =

14) 102 =

17) 46 =

20) 84 =

3) 123 =

6) 27 =

9) 452 =

12) 65 =

15) 183 =

18) 322 =

21) 173 =
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Standard Form

Rewrite in standard form.



1) 142 =

4) 94 =

7) 203 =

10) 402 =

13) 29 =

16) 193 =

19) 312 =

196

6,561

8,000

1,600

512

6,859

961

2) 36 =

5) 242 =

8) 54 =

11) 133 =

14) 102 =

17) 46 =

20) 84 =

729

576

625

2,197

100

4,096

4,096

3) 123 =

6) 27 =

9) 452 =

12) 65 =

15) 183 =

18) 322 =

21) 173 =

1,728

128

2,025

7,776

5,832

1,024

4,913
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Answer keyStandard Form

Rewrite in standard form.


